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II Semester B.Com. Examination, April/May 2019

(Scheme : CBCS 2018-19) (Freshers of April/May 2019 & Onwards)
COSTACCOUNTING

Time : 3 Hours Max. Marks : 80
Instruction:  Answer all parts.

DR GRNNTOTR eVI303.

PART - A
RN - D

Answer any four questions. Each question carries 5 marks. [4 x 5 =20]

CIPYRTTL T, BIAR W3R, BE TJR 5 WO,

Q1) What is idle time? Mention any four causes.
QIFT ATOD ©oTTED? 03I WTITLR T, TTNY, eL0.

Q2) Write short notes on “cost centre” and “cost unit”
3% 3eoq” WY “eBeg cI0AEF” OB OFH 3T wB0WD.

03) Explain briefly “ABC Analysis”.
‘DRA QFeRBODI, WOFToN DF[OR.

Q4) What do you mean by allocation and apportionment of overheads?
WICEN ﬁa';;mf R)&)Fa% MODSTOINE [Ty ToWE o030 JeTe
@c;ﬁégﬁqﬂmo@f%eoa?
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05) What are the objectives of Cost Accounting?
aSaSe’) SZAT m%wﬁ%@@?

Q6) From the following details, prepare a cost sheet.
Direct Materials % 1,50,000
Direct wages < 84,000
Factory overheads are @ 50% of direct wages. Office overheads are 25% of
the works cost. Profit is at 25% of Selling Price.
8 FYNT DTTNOOT S T3oD, S03POR.
36T ToIdN, < 1,50,000
3¢0 3RS 384,000
YOTDTI LD DWFTIED SeBERAOD 50% 33D ewd DFTILL T3 TIT
25% SATTR). -
CREROTEY) WRTOW WTT 25% SNITT.

PART - B
N - D

Answer any Three questions. Each question carries 10 marks.  [3x10=30]
C3RYTRTTR WRT> TINEN YwZdA. TS JIA 10 ©osnd.

(Q7) What is meant by inventory control? Explain the different methods of pricing
of issues of materials.
TR DODOFED DOWTEH? TWRPNNEG JeBFORY &S ANDETTRT AT
T3P B0NT, WTOA.

08) Standard time fixed for a job in a manufacturing concern is 40 hours. Time rate
is ¥ 80 per hour. The actual time taken by the workers are Vijay - 20 hours.
Vinay - 15 hours and Vikram - 30 hours. ,
Calculate the total remunaration of Vijay, Vinay and Vikram on the basis of
Halsey and Rowan plans.
wOmD YOTTT FOFONY 20w FORTI, WedEey 40 moERY 2
A0OH ANOOIPNADIW. TE Nown 8 de. 80, IVIMTTIT D20
20708ned DI0IF-15 nowdned =DFB, DFSF 30 RoBRYR, Irtieom
OBV, BRTRTTT.

83 DR BT FIOTTT 2.3, ROGRVICHI), T A D) Treess” cdnexdng
3 ple) d% B[,

efl

4
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09) Explain briefly different elements of Costs.
ﬁz;a;cs NG LOINTR, TOFTN N=DRD.

Q10)Calculate machine hour rate from the following.

4
Cost of the machine 8,000
Cost of Installation 2,000
Estimated scrap value 1,000
Estimated Life 5 years of 1000 hours per year
Rent and rate per quarter for shop 450
General lighting per month 100
Shop supervisor salary per month 300
Insurance premium for the machine p.a 250
Estimated repairs per Annum, 300

Power 1 unit per hour at the rate of ¥ 20 per 5 units

The machine occupies 1/4 of the total area of the shop. The supervisor is
expected to devote 1/6 of his time for supervising the machine. General lighting
is to be apportioned on the basis of floor area.

BENT QTODNPOT 0DOF NoLd TTWTY, TOW LROND.

ow.
0203w 3S 8,000
:J—%wm dagi 2,000
0TIV THRD W3S 1,000

POT ReNIT B[O Bd JRFE
1,000 Rotdngdod 5 SREND
FOORFTOTR 8 @B Wl [ 3070 450

PRRI, DD TYY I8 sonien 100
FOONF TTTI aﬁaec?sasadﬁa’ @[T FWOWY 300
DO DT OB WONF T 250
WO OTVED DWF [RFG, 300

DTS S ORRAEFNOR Tw. 20 So3 Fé o3 1 oNRLF FoOFMRTH
i3 DARFTY 1/4 NS, 0008, GBNAT ¢TI IF, FIohT
1/6 zrimsy, 0003 edpmsmmon AeBdEsedom 0EFITRNG, FWRT;
améasmgwmal S0T DAeFT e QeNRLIeR.
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Q11)Standard output - 200 units
Rate Per unit- X 10
Calculate earning under Taylor’s piece rate system, when output are 220 units
of Mr. X, 180 units of Mr. Y and 170 units of Mr.Z.
Assume 80% of piece rate for below efficiency and 120% for above efficiency.
What would be the earnings if merick differential piece rate system is adopted
by considering the following piece rates:

S1.No. Rate of Efficiency | Piece rate applicable
1 Upto 83% Normal [100%]

2 83 - 100% 110%

3 above 100% 120%

& TN 1 200 ORI

TS e BB = X 10

. OF, YOI, 220 CHRJIEF

. F; wUZF, 180 ORRIEFTLD

D, TPTS WBF, 170 oPRIERD sTY e TRT ez IoRToD,
ﬁ@éodoab 50:3360@0336

ée,& dﬁéﬁoé TRI dﬁéﬁ Ror [OW Be. 80 do,éab Slal dﬁéﬁ 3e. 120
SR cﬁdam mmam;@m

.08 e dsba‘ oi;aezsﬁodaab& VFOWATY BE3RYT NYFON,, AFFOX.
QTN 8 FINT BPEEODT, BORLBBFYT.

3.%0. 330D T BIONTT OB TT
1 83% T=3n AR, [100%]
2 83 - 100% 110%
3 100% No3d «QT | 120%
PART - C
RN - A

Answer any two of the following questions. Each question Carries 15 marks.
[2x15=30]
CIRPYRTOR TR JIACR WO, B8 TJJR 15 wosnsk.
Q12)What is cost accounting? What are the differences between cost Accounting
and Financial Accounting?

das dsa‘m NelateldavD dzs @5&7.»\) BB, TEoTOR eiﬁemfo VNG IR
3@ rie;a oﬁ:oa@@‘?
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Q13)The following were extracted from the cost records for the year 2018.
production 1000 units.

X
Raw materials 40,000
Direct wages 24,000
Factory Overheads 16,000
Office Overheads 8,000
Selling expenses 2,000

Rate of profit 25% of selling Price
The manufacturer decided to produce 1,500 units for 2019. It is estimated
that the cost of raw materials will increase by 20% and direct wages will
increase by 10% and 50% of the factory and office overheads are fixed and
other 50% are variable.
The selling expenses per unit will be reduced by 20%. The rate of profit will
remain the same.
Prepare.
a) A statment of cost and profit for the year 2018.

' b) Estimated statement of cost and profit for the year 2019,
20180 dzg 0NN & FENT083.
NTTF : 1000 CBRVEFTIED

ow.
TepTORIN, 40,000
seT 3Rd - 24,000
FOATOF O apeen DF 16,000
Be3eD seen DWF 8,000
WIOTLIT DWF 2,000

o) W00 WSoH Hed Je. 25 SNTEB.

ZEED 2019 3G 1,500 ORRAEFNFRY, LTVNILL SETIEUA 0Z90. T
wm_)m# B3S Be. 20 TR, F) J¢T &ra@zjd ge. 10 TR éwﬁ&d 3@
50 O, TooOFR B sesea Foeen DIBERD Ndmﬂm woos Fe. 50
T, WBOIRYT. RO H%, TS BRI 5& 20 o, 3RF0IPNIT.
PP TOTY WTUORHB VL.

@) 20183 B W) wPT T

Q) 20198 ﬁzgd BB TR WOTPD

e BOIPOA.






